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—. HIEE (FKEIL 8 /M E, 3£40.04H)
L.EIAB = (3,6), MBHIAEFEN(2,3), M AARIAFRA( )
A. (-1,-3) B. (=3,-1) C. (1,3) D. (5,9)

2. AR IERIINC )
A BANE LR S A R, AR B, FIEAB S M R BANI KBS

C. FMEEIERT, <R —Apf D. ZfEEHE T

[a]

3.041d = (-3,2), b=(-1,0), [IEAG+b5d —2bTE, WSEHAMME N )
1 1 1 1

4.4 () = Inx — T AFTERRBIX LR ()

A. (é,l) B. (1,e) C. (ee? D. (e%e3)

SAE— B, KRS EE T RARAE R I — U

x -2 -1 1 2 3

y 0.24 0.51 2.02 3.98 8.02

FELLT DA R B (@, bAFE RED ™, BB, yeRECCRIRZ( )

A. y=a+ bx; B.y=a+§; C. y=a+logyx; D.y=a+b*

6.%“(:05(% —a) = g, Mfsin2a = ( )
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1++v/2cos (Za—%) _

70K E R, Heos (m—a) = -2, Il @

sin (§+a)
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8.C.HIAABCH', AB =4, AC = 43, BC =8, #hSPHAECH KISLECBizs), ik SBEf
{1k, shAQHE ABH RINLBBCIas), ik ScHHELR, HahmQrEE &sl P26, &
TR R, HAEILEEhE, BA s, WHZE AP - AQHIERE A )

7 49
AL B. 4 c.2 D. 23

=\ BB (RRESE 4 M8, 3£20.090)

9. FHIXTAEG b, SHEIEHE, —EWMAEC )

A . @+Db)-¢=d-¢+Db- ¢ B. @ b)-¢=a-(b-0)s
C.a-b<|@|-|b]: D.|a-b|<|d|+]|b|
10. FHIERA, FEAEC )

A. sin7 ° cos23 ° + sin83 ° cos67 ° ; o oLl

' sin50°  cos50°

tan22.5° D 1
" 1-tan222.5° * (1+tan22°)(1+tan23°)

1L ARHLEE (S iy <\ 37 BARKTRE @R A — . FERZ < \FH” BER,
WA IE ) GA M )\ &, #505&1E )\IWABCDEFGHfH ¢y, H|AB| =1, M )
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A. AH 5CFREMI S —HILE B. 0D - OF = 0:
C. 0A+0C = vV30B: D AC-@):g

12. BRI, 0 HEREL (x) = ()F — [loga(x — DIFIFIA T AL W FFILE R R ( )

A. (x1 —2)(xy —2) € (—°,0); B. (x; —D(x;—1) €(0,1);
C.(xs— Dy —1)=1; D. (x; —D(x,—1) € (1,+°)
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=, HEEE (RKRREFL 4 /ME, F£2040)
13. CH|@| =2, |b| =10, a5pMFMAHIN120° , WHERTE R &G A 1B M &
. (HmH&EdER)

14, WE R, —ANMEERRS AR E, BATFER /A F
. CEF&M LR I RE S Fy, BHF . FBS5/KFRMYE e -
N45°, |F| = |F,| = 10v2N, WkIES RN A N. | |

15. FHRREf(x) = 2% + 3x + afEX[H (0, D) NAAEE 4, W aBUEEE

16.35JXABCDH,AB=1,A € [— —] BE, Foy 2B AD, CD 13 i (B 45 15, AE = CF,

W (AE + CF)-AC =____, ED - EBWis/MHEN . (B 24, F A3

MO, fRERE (ARKEEFL 6 N8, 3£70.043)
17.850° PN = AR = (3,2), b= (-12), ¢=(41).
(1) #d=2Ab+ucu€R) KA+ pifH;

(2) #HIAEG + kb5 RFE2D — ¢34k, RIHk M.

18. Ui ik, i 2 [d)] = 1,|3d — 2b| = VI3, Ha,bMJsmhe0
(1)K|B| o
(2)3RbH1g — 2 PRAIAR L.

19.7£Dtana = 4V3, @7sin2a = 8v3cosa» @tan— = \/—EPEJi*A&ﬁ:’ FNFEALE T ),
Ffife 1 ) L

E,%n0<ﬂ<a<§, , cos(a — B)—i—i
(DKsin(a + DA
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2041/, 76 TR OMN 1, - 420M = 10, B0 fif <MON =2, DRFEIN_LI13) 21, HILABCD
BT, i <DON =0, HABCDINHFLAS.

(DO T RFLEDC, OBIIK: M
()RS A /\
A —AD
TFﬁH
0 B c N

21.1% [ Ed = (sinx, cosx), b = (sinx,/3sinx), x €ER, HHf(x)=ad @+ 2Db).
(1)K BRELS () i B KB B s 1 X )

(2)#a € (%,g), Hf(a) = 1—56, Rsin2a.

22. CVEERHLf (x) = sin?x — /3sinxcosx + %,g(x) = mcos(x + g) -—m+2

(D) FXHER X, x, € [0,m], FIATf(x1) 2 g(xz)s REHm AU It
(2) #xHTREx € [0, H f(x) = g(x), REHm P EUE TG ;
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